<11A30H (%) >

HAREO = ATV =LA ATV R—L = HaiRE0

118302 % (15) AEHE T & Bk L EN TG 14:05
1184550 % (255) 26E1T *FCEITAL 12:00
128002 % (15) *—HRAIS 12:30
1281592 % (255) YOEF AL 13:30
121302% (15%)
1285455 % (25E)
131002 % (15%)
1381592 % (255)
138302 % (15E)
13450 % (255)
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<12R18 (B) >

HaREO = ATV K—LA ATV R—L = HaiRE0

1083092 % (15%) AEHE T & Bk L N1 13:05
1085459 % (25E) 26E1T *FCEITAL 11:00
118002 % (15E) *—HRAIS 11:30
118152 % (255) YOEFAS 12:30
11K302% (15%)
11854550 % (25)
1280092 % (15%)
1281592 % (25)
128302 % (15)
128455 % (25E)
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